Price level and employment

Initial equilibrium:

rY

PL = Price level

AS = Aggregate supply

AD = Aggregate demand
(Consumption + investment +
government spending + net
exports)

rY = real gross domestic product

Interpretations:

Higher PL — Inflation

Higher rY — less unemployment

Lower PL — Deflation
Lower rY — more unemployment

(stagflation)

1 Inflation and more unemployment

2 Inflation and less unemployment

Example: higher oil prices

Example: increase in consumption

AS'
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3 Deflation and more unemployment |[[4 Deflation and less unemployment

Example: higher income taxes — lower Example:  higher productivity in production
disposable income — decrease
in consumption
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